
Item Description Quantity 

1 9" Dual Diaphragm Brake Booster 1 

2 1” Aluminum Master Cylinder 1 

3 Booster Bracket Set 1 

4 Brake Booster Pushrod 1 

5 Brake Master Cylinder Fitting 2 

6 Brake Booster Firewall Seal 1 

7 Brake Booster Firewall Seal Plate 1 

8 Clevis, 3/8" x 24 Thread, Female 1 

9 10-32 x 1/8" Set Screw 1 

10 M10x1.5 Flange Nut 4 

11 M8x1.25 Flange Nut 2 

12 3/8-24 Jam Nut 1 

13 7/64" diameter x 3/4" cotter pin 1 

14 3/8" x 1-1/8" Clevis Pin 1 

15 Instructions 1 




